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Jim Stiles The Univ. of Kansas Dept. of EECS 

Special Problem 2-4.8 
 
Evaluate the scalar field: 
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at point P (x =3, y = 4, z =5) in each of two ways: 
 

a)  Transform the location of point P from Cartesian to  spherical 
coordinates, and then directly evaluate the scalar field above. 
 
b)  Transform the scalar field from spherical to Cartesian 
coordinates, and then directly evaluate using the Cartesian 
coordinates of the point P shown above. 
 
c)  Compare your two answers.  Does this surprise you ? 


